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| Final Examination

Instructors: D. Adley, B. Seivewright, E. Cadieux, S. Ho lden, H. Khouri, & S. M#kinen

‘Write your name here:

Sign your name here:

Instructions:
1. This examination package contains 19 quéstions and 16 pages. It is your responsibility to
check that there are no pages missing. _
2. Fill in your name before answering the questions.
3. Answer ALL quesnons 1n the space provuled
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your right to contest your grade will be compromised.
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necessary. (2 pts each, total 12 pts)













- 6. Arrange the following substrates in order of their increasing Sy2 reactivity with NaCN. (2

pts)
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slowest fastest
7. Draw the mechanism which accounts for the formation of the major organic product,

when the two compounds are allowed to react. Draw in 3D when necessary. Use curved
arrow notation. Draw and indicate clearly the structure of the major product. (4 pts)
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8. Show the required reagents to synthesize the following compounds: Mechanisms are not
. required. Give the final product in the last box. (5 pts)
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Show the required steps to synthesize the following compounds. Show all intermediate ‘

products. Use any inorganic and organic reagents necessary. Mechanisms are not
required. (9 pts) :




1t Fxnlain why the follawine reaction dnes pof ograr {1 ni)

HO (A~ 0 Na > O
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reaction. Circle the major product. (3 pts)
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12.  The compounds below have the pX, values 4.7, 16, 45, and 62. Insert the correct pKa Value
in the box for each compound. (4 pts)

HyC===CHy
HaC——CHs
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HyC——C~——0OH

Hy
HyG——C —OH
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13.  Which of the two compounds has a higher boiling point? Explain. (4 pts)

a. CH3;CH»-O-CH>CHs, or CH;CH,-0-H



14.
a. Draw the 3D formulae of the products of the following reaction. (4 pts)
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b. i 3] soluti ically active? (I pt}

whether the major mechanism is Syi, Sn2, E1, or E2. (2 pts each, total 6 pts)



16. What is the relationship between the following molecules? Place your answer in the box. 4
pts) |

i. enantiomers

ii. diastereomers

ili, constitutional isomers
iv. same molecule

v. none of the above
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17.  Give the structural formulas of the significant organic products for the following reactions.
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Include stereochemistry where applicable. (2 pts each, total 10 pts)

a)
Br CH,
+ 0 CHy — =
CHj
b)
HOOH
c)

o B



(CsHg) gives the following products: (2 pts)

1) Oy r

O
.
C

A |
2) Zn, H,0 HC—CH .  HC—C —CH

What is the structure of compound A?

'19.  List the following in order of increasing stability. (4 pts)

a. l-octene
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